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[bookmark: _GoBack]Didow v. Alberta Power Ltd (1988) ABCA (Oct. 2) (p. 176)
Facts: D put up a low level projection that crossed into P’s property + infringed upon his potential use of the land 
Issue: Was the projection a trespass?
Ratio (Haddad J): Bernstein’s Test: if an item infringes on an owner’s right to potential/actual use of the land, it’s trespass
Analysis: Projection infringed upon owner’s use of the land, thus it was trespass
	Awarded damages on set market rate 
Quotable: Surprising decision as it could pose a large burden on government since this happens all the time
	Subsequently, government changed legislation to say that trespass was acceptable + not subject to compensation 

Edwards v. Sims (1929) Kentucky CA (Oct. 2) (p. 184)
Facts: Entrance of a cave was located on P’s property + P operated a public exhibition of the cave
	D felt cave might extend under his property + wanted to survey cave to find out, P refused
Issue: Does P have to allow survey?
Ratio (Stanley J): Caves are mines 
	Equity can compel mine owners to submit to survey 
	Dissent (Logan J): rules for airspace should be same as subsurface 
Analysis: P’s cave is like a mine, thus, must submit to survey
	Dissent (Logan J): Owner of cave entrance should own cave, thus, doesn’t need to submit to survey

Ford v. Zelman (2005) BCPC (Oct. 2)
Facts: P had a border tree in his yard that eventually grew to trespass on D’s yard
	D cut branches on their side, which resulted in the destruction of the tree
Issue: Is D trespassing?
Ratio (Gedye J): Being in another’s airspace is trespass 
Analysis: D moved into P’s airspace when D cut branches, thus, D trespassed
Quotable: Trees are usually dealt with as nuisance rather than trespass

R. v. Nikal (1996) SCC (Oct. 9) (p. 213)
Facts: D lives on a reserve which has land on both sides of Bulkley River 
	D was caught fishing in the river + charged with fishing without a licence 
Issue: Is the river navigable waters?  
Ratio (Cory J): Applied Ad medium filum aquae
Applied Navigability Test  concerned with entire length of river, not just the section in contention
Crown reserves bed + shores unless expressly granted 
Analysis: Crown had rights to fish because Bulkley River overall is navigable + they didn’t expressly give this right up, thus, D had no right to fish in it



Robertson v. Wallace (2000) QB (Oct. 4) (p. 204) 
Facts: P + D had dispute on whether the fence dividing the cattle was the dividing line between the 2 properties 
	Both parties treated fence as boundary, prevented other party from allowing their cows pas the fence
Issue: Was the fence the boundary?
Ratio (Nation J): Conventional Boundary Doctrine is applied when:
· Adjoining landowners dispute/uncertain about location of dividing line between properties
· No agreement between these parties on a dividing line
· Recognition that this is a common boundary (oral, writing, conduct) is clear + definite
· Onus of proof is on person challenging the dividing line 
Analysis: No direct evidence (i.e. written or oral) to demonstrate agreement on using fence as boundary 
	Court must use conduct  preventing other party’s cows from crossing fence was sufficient evidence that fence was meant to be boundary







